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���� ��������	
��������	
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    � �
� ���������
  

���
 pH EC ����� ��  ��!"#$ %&'(#)  *+  ,- .    /0  12  34 5( Ca/Mg Mg/K �6789:   

1 ;<  5.5 - 45 35 7.5 2.5 - - 6  

2 =>  6.0 0.1 60 48 10 2 4 2 16  

3 ?>  6.0 0.1 60 48 10 2 4 2 16  

4 ?@  6.0 0.1 60 48 10 2 4 2 16  

5 ABCDEF  6.0 0.1 60 48 10 2 4 2 16  

6 AG 6.0 0.1 60 48 10 2 4 2 16  

7 HD"#I$ 6.0 0.1 60 48 10 2 4 2 16  

8 ABCJK  6.0 0.1 60 48 10 2 4 2 16  

9 LMNO 5.5 0.1 40 31 7 2 4 2 16  

10 GPQNO 5.5 0.1 40 31 7 2 4 2 16  

11 RSGT 6.0 0.1 60 48 10 2 4 2 16  

12 UVW 5.5 0.1 40 30 7 3 4 2 16  

13 ABCXY Z[\��  6.0 0.1 60 48 10 2 4 2 10  

14 ]^_  ̀ 6.0 0.3 60 48 10 2 4 2 20  

15 
6D 6

 6.0 0.3 60 48 10 2 4 2 20  

16 ab6D 6 6.0 0.3 60 48 10 2 4 2 20  

17 cd  6.0 0.3 60 48 10 2 4 2 20  

18 e-D# 6.0 0.3 60 48 10 2 4 2 20  

19 
Qfg

 5.5 0.1 40 30 7 3 4 2 16  

20 
dQL 6.0 0.3 60 48 10 2 4 2 20  

21 Lhfi 6.0 0.3 60 48 10 2 4 2 20  

22 
Ej# 6.0 0.3 60 48 10 2 4 2 20  

23 kQTM 5.5 0.1 40 31 7 2 4 2 16  

24 lmnMoM 6.0 0.1 60 48 10 2 4 2 16  

25 
gh_ 6.0 0.1 60 48 10 2 4 2 16  

26 cpQq 6.0 0.3 60 48 10 2 4 2 20  

27 rsQq 6.0 0.1 60 48 10 2 4 2 16  

28 Stuv 6.0 0.3 60 48 10 2 4 2 20  

29 nMnw 5.5 0.1 40 31 7 2 4 2 20  

30 Lx  5.5 0.1 40 31 7 2 4 2 16  

31 yz{| 6.0 0.1 60 48 10 2 4 2 16  

32 }jV,(-  6.0 0.3 60 48 10 2 4 2 20  

33 ~wrQ 6.0 0.1 60 48 10 2 4 2 16  

34 ��$ 6.0 0.3 60 48 10 2 4 2 20  

35 (-���$ 6.0 0.3 60 48 10 2 4 2 20  

36 
9(-#H$�"�$ 6.0 0.3 60 48 10 2 4 2 20  

37 ��G 6.0 0.3 60 48 10 2 4 2 20  

38 N^Mvw 6.0 0.1 60 48 10 2 4 2 16  

39 �_PMA_ 6.5 0.1 80 62 15 3 4 2 20  

40 cGc 6.0 0.3 60 48 10 2 4 2 20  

41 uv 6.0 0.3 60 48 10 2 4 2 20  

42 n� 6.0 0.3 60 48 10 2 4 2 20  

43 �#�#I�  6.0 0.3 60 48 10 2 4 2 20  

44 ��� R̀m�F  6.0 0.3 60 48 10 2 4 2 20  

45 N�� 5.5 0.1 40 31 7 2 4 2 20  
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� �
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���
 pH EC ����� ��  ��!"#$ %&'(#)  *+  ,- .    /0  12  34 5( Ca/Mg Mg/K �6789:   

46 �kt� 6.0 0.1 60 48 10 2 4 2 16  

47 $�- 6,-# 6.0 0.3 60 48 10 2 4 2 20  

48 r��M�_ 6.5 0.1 80 62 15 3 4 2 20  

49 r�QM�M 6.0 0.3 60 48 10 2 4 2 20  

50 5(�"�-  6.0 0.3 60 48 10 2 4 2 20  

51 �j( 6.0 0.3 60 48 10 2 4 2 20  

52 ��G 6.0 0.3 60 48 10 2 4 2 20  

53 �O_p 6.0 0.3 60 48 10 2 4 2 20  

54 �] 5.5 0.1 40 31 7 2 4 2 20  

55 _� 6.0 0.3 60 48 10 2 4 2 20  

56 �\vw 6.0 0.3 60 48 10 2 4 2 20  

57 
��( 6.0 0.3 60 48 10 2 4 2 20  

58 	
zjV6 6.0 0.3 60 48 10 2 4 2 20  

59 ABC��  6.0 0.3 60 48 10 2 4 2 20  

60 `Mg 5.5 0.1 40 31 7 2 4 2 10  

61 
x�_ 6.0 0.1 60 48 10 2 4 2 10  

62 cN 5.5 0.1 40 31 7 2 4 2 10  

63 
qq

 5.5 0.1 40 31 7 2 4 2 10  

64 �_s_ 5.5 0.1 40 31 7 2 4 2 10  

65 }7-{(-  5.0 0.1 30 22 6.2 1.8 4 2 10  

66 ABC
�  5.5 0.1 40 31 7 2 4 2 10  

67 `M�_ 5.3 0.3 50 40 7.5 2.5 4 2 20  

68 ]wF  6.0 0.3 60 48 10 2 4 2 20  

69 
8(	#�7�  ̀ 6.0 0.3 60 48 10 2 4 2 20  

70 ABC�  ̀ 6.0 0.3 60 48 10 2 4 2 20  

71 
67,�y�� 6.5 0.1 80 62 15 3 4 2 20  

72 $�-�$F  6.0 0.3 60 48 10 2 4 2 20  

73 $6V� 6.0 0.3 60 48 10 2 4 2 20  

74 H7$6jE(H 6.0 0.3 60 48 10 2 4 2 20  

75 5-�-
�# 6.0 0.3 60 48 10 2 4 2 20  

76 G� 6.0 0.3 60 48 10 2 4 2 20  

77 H$�-  6.5 0.1 80 62 15 3 4 2 20  

78 H���  6.5 0.1 80 62 15 3 4 2 20  

79 5"-  6.5 0.1 80 62 15 3 4 2 20  

80 
9"�8"$ 6.0 0.3 60 48 10 2 4 2 20  

81 �mLd�A_ 6.5 0.1 80 62 15 3 4 2 20  

82 ��-(VW 6.0 0.3 60 48 10 2 4 2 20  

83 �7��b�� 6.0 0.3 60 48 10 2 4 2 20  

84 
�(-�H 6.0 0.3 60 48 10 2 4 2 20  

85 "-�$�-  6.0 0.3 60 48 10 2 4 2 20  

86 @���  6.0 0.2 60 48 10 2 4 2 5  

87 
��(H#"�9"$ 6.0 0.2 60 48 10 2 4 2 5  

88 ABC�����  6.0 0.2 60 48 10 2 4 2 5  

89 � ��  6.0 0.2 60 48 10 2 4 2 5  

90 �#6,-# 6.0 0.1 60 48 10 2 4 2 16  

91 !7"-  6.0 0.1 60 48 10 2 4 2 16  

92 #$�M>  6.0 0.2 60 48 10 2 4 2 5  

93 ABC%&\��  6.0 0.2 60 48 10 2 4 2 5  
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���� ������� ��������	������� ��������	������� ��������	������� ��������	
        

 � 

� ��
���� ������� ������ ����������
 � !" #$%&'() *kg/10a+  , -  ./01 23% 245   67        

 kg/10a  89:;*  ('  <' => *?@ABCD+*
 540E600 FG   5E8 2 7E10 *7E10+HIJD

  KLM   N?@OPQR  - - 5 *7+  

 *1.9mmST+ UK   - - 5 *15+  

  VWM    - - 30 *70+  

 450E550 FG   4E6 2 6E8 *6E8+X?YZ[ *\]^_+  KLM   N?@OPQR  - - 5 *7+  

 *1.9mmST+ UK   - - 5 *15+  

  VWM    - - 30 *70+  

 550E600 FG   5E6 2 7E8 *7E8+X?YZ[
 *̀ a+   KLM   N?@OPQR  - - 5 *7+  

 *1.9mmST+ UK   - - 5 *15+  

  VWM    - - 30 *70+  

 600E650 FG   5E7 2 7E9 *7E9+bPc[dB
  KLM   N?@OPQR  - - 5 *7+  

 

*1.85mmST+  UK   - - 5 *15+  

  VWM    - - 30 *70+  

 540E600 FG   6E8 2 8E10 *8E10+efgDhi
  KLM   N?@OPQR  - - 5 *7+  

 *1.9mmST+ UK   - - 5 *15+  

  VWM    - - 30 *70+  

 600 FG   4E6 2 6E8 *6E8+jklmn
  KLM   N?@OPQR  - - 5 *7+  

 *1.7mmST+ UK   - - 5 *15+  

  VWM    - - 30 *70+  

 650 FG   3E6 2 5E8 *5E8+oopqr
  KLM   N?@OPQR  - - 5 *7+  

 *1.7mmST+ UK   - - 5 *15+  

  VWM    - - 30 *70+  

 540 FG   4E7 2 6E9 *6E9+stuvw
  KLM   N?@OPQR  - - 5 *7+  

 *1.9mmST+ UK   - - 5 *15+  

  xyz   - - 30 *70+  

*N?@ABCD{|ZYABC}w~ 10a �ci��7"J�KLM 2kg
�UK10kg

�VWM 40kg���b~�  
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(1) � 6-1 ������������������ ! "#$�� !%&'�()��*+,-.�/()��01��234152kg/10a 6701��2�89:;<=>:* ?�/�2@�AB�� !CD�� !�EFG�/01HI��2� 70590J�89:KL=MN.>:*#$�� !E3ODP�� !&Q��/01ROSTUVW2. 2kg/10a
�@XLY:*

 

 

(2)
�2@�AB�� !�/Z[\�3:01&]4^_=`aF&./Z[\b^_cd&��efL�Gg�.>:*

 

 

(3)
Z[\C�F��/+hijkl-/jkl-/+,-&3ma/nopq=r�Fcd.����aF*stu�F����Y:dH�� 1000kg/10a v�4151.5kg/10a �wx�@�01��2�89:*

 

 

(4)
Q�yz�/{|}�~�\������@$�@�FG��Y:*q����&���/��aQ����:* 

 

(5)
M��T��=

30mg/100g ��&dH/T��������LY:KL=MN.>:*?�/M��T��=p�Y:dH�/6mg/100mg �w#�-��qY:KL* 
 

(6) ���ST�/40mg/100g ��&dH/ST������LY:KL=MN.>:* 
 

(7) ���STCM���l�&����2�/�uo�&VW 7C/cd&no��3¡G¢£ ¤¥¦Y:*§�¨��@$�/A©ªacd�E�:����2�«�¬V��=/­��®�=¯°Y:a±&²o³´.���µ��§�¨��@$.�p�Y:MN�=¶F&./-���´�·Fa=\��2�¸~Y:*
 

 

(8) ¹«³�EFG�/º»&¼¬o³L¢£¤01��½¾�¥¿:;<=>:*ÀÁÂÃ&¹«³&oZÄÅÆÇÈÉÊ&ËÌa±�ÍÎ���2�¸~Y:* 
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����
������	
� ��� �
����
������	
� ��� �
����
������	
� ��� �
� ���� ������
�������	������
�������	������
�������	������
�������	����� !" #$%&#�'()*+,-./0123456'(0)789:;y <=>?�@A2BCD8E+F<$GHI,JK)LMNOPQRS;0�O�T��UV8W:;X YZ[\]^_`ab8E:cd6%`az8efJ1R:;g����0hei� !" $jk6zD8E+,l6CD�mnB)o:@Ap�qrstuvwoxyz {|}~�����������}~��s����vw���������������s��xy� ������ ¡s¢��£¤¥¦§¨©��ª�¨«¬���­¤xy® ¯°�±²³´w©µ¶·¸¹º» �­¤��x¼½¾¨¿¿¹­¤xyÀÁÂ·���Ã²³´�ÄÅÆ ÇÈ�ÉÊËÌ¨¸¹Í¿�Î¨ÏÐ¤¥yÑ�ÒÓÔÕ�Ö¹�·×�ØÙÚ�Û¥yz Ü±r�Üx¼½r�oxÝÞsß¤¥y� à±}~�á±��âãäå¨¸æ�çèé�ê±yo±ëìíîw©ï¨ð±ñ¼òówô¥y® õö¹���s��x÷éÃøùÌ�úûüýáþ¤yÿ ���­ª���s���¦§©�����å��w��¤¥y	 x¼½¾s���
x�w��Ò
©��¤¥y� ê±©âãäå¨¸¹��s�º»�x¼½�����çè�¨��y� �������� !"#$%��&'() *+ ,- ,./ 012  345 678 92-:;< =>? :;< =>? @A< BA< @A< BA< :;< =>? CDE F
 1/2 

F
 1/2 

F
 
F
  G H 1/2 1/2 IJKLM N F

 1/2 
F
 1/2 

F
 
F
  G H 1/2 1/2 OPNQRS0

1/2 2/3 
F
 1/2 

F
 
F
  G H 1/2 1/2 

678E F
 1/2 

F
 1/2 1/2 

F
  G T 1/2 1/2 UVWSXYU N

1/3 1/2 
F
 1/2 1/2 

F
  G T 1/2 1/2 OPNQRS0

1/2 2/3 
F
 1/2 1/2 

F
 20Z G T 1/2 1/2 E F

 1/2 
F
 1/2 1/2 1/3 30[ \ G 1 1 ]�^_̂ N

1/3 1/2 
F
 1/2 1/2 1/3 `  \ G 1 1 OPabc0

1/2 2/3 
F
 1/2 1/2 1/3  \ G 1 1 

92deE F
 

F
 
F
 
F
 
F
 
F
  G G F

 
F
 f2ghijklmn N F

 1/3 
F
 
F
 
F
 
F
  G G F

 
F
 onpqrstuvwx*+sF2yz{|}n~ 0

1/3 1/2 
F
 
F
 
F
 
F
  G G F

 
F
 ���� E

1/2 1/2 1 1 1 1  G T 1 1 ������5Q�M�5sdeWcz"#�� N
1/2 1/2 1 1 1 1 �� G T 1 1 �"#� 0
1/2 1/2 1 1 1 1  G T 1 1 � �� ����³´ ���³´·���©��w����¶�¨ö÷æ�©���¨¸¥Ô ��è¥¡� ¢ £¤¥y 

    2) 
ÝÞ¦§©¨��©¹wô¥y ª «ªª¬­��ô «ô�÷¡v½�÷ «÷¿®¯�¹

    3) 
���¦§©¨��©¹wô¥y ° «±²�à�³ «�à�´ «µ£�à�¶ «�à��x

4) 
ð�1/3�1/2�1 ©·¸ðà¹�¯°� 1/3�1/2�¯°¯¹à¹y 
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 ���� �����	

  * +

 
  ��
�2,� {

kg/10a
~
 

 
��

   O P     *�
 ��  �|�#  

 
 ,
 2
 

 �
 �
 �
 

 ��
 |�
 �
 

 �
 �
 �
 

 �
 �
 �
 

 ��
 

 
 !
 K  

"
  
 

#
 ?
 

$
 <
  kg/10a 

r%
 ^U  &'()*+,- 450 - ./0SXY 4Z6 2 0 0 0 6Z 8 3 10 11 3 

  1!2345 420 f ./0SXY 4Z6 0 2 0 0 6Z 8 3 11  8 2 

   6  ./0SXY 4Z6 2 2 (2) 0 8Z10 3 11  8 2 

 7) 89 420 f ./0SXY 4Z6 0 2 0 0 6Z 8 3 11  8 2 

   6  ./0SXY 4Z6 2 2 0 0 8Z10 3 11  8 2 :U  
3;<345

 420 f ./0SXY 4Z6 0Z2 2 0 0 6Z10 3 11  8 2 

   6  ./0SXY 4Z6 2Z3 2Z4 (2) 0 8Z13 3 11  8 2 

 =S>?/ 420 f ./0SXY 4Z6 0Z2 0 0 2Z4 6Z12 3 11  8 2 

   6  ./0SXY 4Z6 4Z6 0 0 4Z6 12Z18 3 11  8 2 

 @A�>?/ 420 - ./0SXY 4Z6 2Z6 ��92Q8B 4 10Z16 3 11  8 2 

 ���C DE���	

    ��
�2,� {

kg/10a
~
    *�

 
* +

 
��

   
 
 !
 K  

"
  
 

#
 ?
 

$
 <
   �� �|�#  OP 

  kg/10a  
,2

 
92

* 

 1!29FG 270 HV0SXY IJK L
(2Z)4 I6K L
2Z4 IMK L
2(Z4) - 5 7 8 3 

 
9N- N-

 270 HV0SXY - 4 7 8 3 
 

 N-O-
 270 HV0SXY - 4 7 8 3 ^_

 WPQ�? 240 HV0SXY - 3 6 8 3 
 RSTU 240 HV0SXY - 3 6 9 3 

 
3+V

** 240 HV0SXY - 3 6 8 3 
 
MKWX

 240 HV0SXY - 3 6 9 3 

* 
^_�92t,YZ[t\.]1z0^8h}_`�a_bc8Td]1��]esth fg!<Zhi��OP92j\ kz  

** 
3+V�OP�2�,2�tl*+�2Z3m`QWcz  

 ���n oEpqr����	

   ��
�2,� {

kg/10a
~
    *�

 
*+

 
��

   
 
 !
 K  

"
  
 

#
 ?
 

$
 <
 

 

  �� �|�#  OP CD
 

kg/10a  
,2

 
92

 
��

  :_
 stu(18! 180 HV0SXY 3Z5 - 3Z5 2 5 9 3  

 vw^xy            z{
 vw|i 100 �|0SXY 2Z4 - 2Z4 1 4 8 2  }~�!E+
 

G<93�tN*}+�"
 

130 �|�K0SXY 0 - 0 1 0 7 2 
012

2t/10a � �
 45
 

tQ=0? 400 �|0SXY r�
 ���
 

5 11
�5

 4 8 11 3  ��
 ���� (�)h��  �����h�{���

2� 350 �|0SXY 3Z4 1Z2 4Z6 4 5 8 6  }�
 
^�

10
h���

 =1�b� 250 �|0SXY 3Z4 1Z2 4Z6 2 4 9 5  <�
 �#16

h���
  ¡�b�

 

250 �|0SXY 3Z4 - 3Z4 2 3 8 4  
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� ����� �����	
 ������ 	

����
*�
 

 !�� �(
  
���� ��
�2,� {

kg/10a
~
 

  kg/10a �|�#  �� OP  !K  
" 

 
#?

 
$<

 S�k�
 �� !  12,000�|�>�8 ,2

 15 - - - - 

 
{�-+���~

  
92

 25 - - - - 

   
��

 40 11 30 35 9 

 �r !  8,000�|�>�8 ,2
 15 - - - - 

 
{�r��~   

92
 25 - - - - 

   
��

 40 7 30 40 11 �~�
 ����� !  9,000�|�>�8 ,2

 12 - - - - 

   
92

 18 - - - - 
   

��
 30 10 30 18 5 

 
�-+��� !

 7,000�|�>�8 ,2
 15 - - - - 

   
92

 12 - - - - 

   
��

 27 8 27 17 4 �t ����� !  6,000�|�>�8 ,2
 12 - - - - �~�

   
92

 18 - - - - 

   
��

 30 7 30 13 3 �*~!
 ����-+ !  8,000�|�>�8 ,2

 15 - - - - 

   
92

 18 - - - - 
   

��
 33 6 30 15 6 

 �r !  5,000�|�>�8 ,2
 15 - - - - 

   
92

 15 - - - - 

   
��

 30 4 29 24 7 1>�
 

�-+ !
 2,500�|�>�8 ,2

 13 - - - - 
   

92
 6 - - - - 

   
��

 19 6 19 14 4 

 �r !  1,500�|�>�8 ,2
 11 - - - - 

   
92

 6 - - - - 
   

��
 17 4 15 20 5 ]W  

�-+�0t
 7,000�|�>�8 ,2

 15 - - - - 
 

�!7  !   
92

 15 - - - - 

   
��

 30 8 30 15 7 W1? �!7  !  5,000�|�>�8 ,2
 10 - - - - 

 
{~ !~   

92
 5 - - - - 

   
��

 15 4 15 17 3 GF!
 

�!7  !  2,500�|�>�8 ,2
 10 - - - - 

   
92

 0 - - - - 
   

��
 10 4 13 21 6 

 
�-+ !

 4,000�|�>�8 ,2
 10 - - - - 

   
92

 0 - - - - 

   
��

 10 6 15 23 7 "}[U�U
 
#�S|�8 !  3,000�|0SXY ,2

 15 - - - - 
   

92
 8 - - - - 

   
��

 23 3 15 22 6 ^1�U
 f$r%e� !  4,000�||�K  

,2
 5 - - - - 

  
�>�8

 
92

 0 - - - - 
   

��
 5 5 5 15 3 

 
Xr&e� !  5,000�||�K  

,2
 8 - - - - 

  
�>�8

 
92

 0 - - - - 

   
��

 8 6 8 17 3 �'k
 

#�S !
 2,000�||�K  

,2
 13 - - - - 

  
�>�8

 
92

 5 - - - - 

   
��

 18 5 15 15 6 ]b1� �� !  3,000�|�>�8 ,2
 7 - - - - 

   
92

 15 - - - - 
   

��
 22 2 17 23 6 
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� ����� �����	
 ������ 	

����
*�
 

 !�� �(
  
���� ��
�2,� {

kg/10a
~
 

  kg/10a �|�#  �� OP  !K  
" 

 
#?

 
$<

 �Q1�
 

~ !�0t�r 1,200�|�>�8 ,2
 14 - - - - 

   
92

 6 - - - - 
   

��
 20 3 22 20 6 {b18�

 
�� !  3,000�|0SXY ,2

 7 - - - - 
   

92
 3 - - - - 

   
��

 10 3 15 12 4 [U[T �� !  1,000�|�>�8 ,2
 15 - - - - 

   
92

 10 - - - - 
   

��
 25 4 15 24 6 0���

 
�� !  6,000�|�K  

,2
 15 - - - - 

  
0SXY

 
92

 10 - - - - 
   

��
 25 5 20 51 13 <�s� �%e� !  4,500�|0SXY ,2
 12 - - - - 

   
92

 6 - - - - 

   
��

 18 5 16 25 5 

 
%&e� !  4,500�|0SXY ,2

 10 - - - - 

   
92

 6 - - - - 
   

��
 16 5 16 24 4 tT�1 &e� !  4,500�|0SXY ,2
 12 - - - - 

   
92

 6 - - - - 
   

��
 18 5 18 29 6 ��+

 
X���+

 3,000�|0SXY ,2
 12 - - - - 

 
#�� !

  
92

 0 - - - - 

   
��

 12 2 10 13 3 

 f$r��+ 3,000�|0SXY ,2
 12 - - - - 

 
�%e� !   

92
 0 - - - - 

   
��

 12 2 10 13 3 

 
&e� !  3,000�|0SXY ,2

 10 - - - - 

   
92

 0 - - - - 
   

��
 10 2 10 12 3 	
���+

 
%&e� !  2,000�|0SXY ,2

 10 - - - - 
   

92
 0 - - - - 

   
��

 10 2 10 12 3 � *!
 �r ! 
3�

 0�|�>�8 ,2�Y
 10 5 10 7 2 }+���+

 2
��

 100�|�>�8 ,2
 15 - - - - 

   
92

 3 - - - - 
   

��
 18 7 16 8 2 

 3
��

 300�|�>�8 ,2
 18 - - - - 

   
92

 3 - - - - 
   

��
 21 9 21 7 2 

 4
����

 500�|�>�8 ,2
 18 - - - - 

   
92

 7 - - - - 
   

��
 25 11 25 7 2 

 
�� !

 300�|�>�8 ,2�Y
 30 5 15 21 5 QkbUzk �-+ ! 1

(�
 1,000�|�>�8  9 2 8 5 2 

 2
(�

 900�|�>�8  7 2 7 5 2 
 3

(�
 600�|�>�8  4 1 4 4 2 

 4
(�

 750�|�>�8  0 2 0 4 2 

 
��

 3,250  20 7 19 18 8 2F�3 *
 
�� !  700�|0SXY ,2

 15 - - - - 
   

92
 8 - - - - 

   
��

 23 2 8 22 5 " &��* #�S !  2,000�|0SXY ,2
 15 - - - - 

   
92

 8 - - - - 

   
��

 23 4 14 18 5 
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� ����C �����	
 ������ 	

����
*�
 

 !�� �(
  
���� ��
�2,� {

kg/10a
~
 

  kg/10a �|�#  �� OP  !K  
" 

 
#?

 
$<

 Y�{
 

a�Y�{
 600  

,2
 10 - - - - 

   
92

 5 - - - - 
   

��
 15 2 8 18 5 

 
}Y�{

 1,500
����

 
,2

 10 - - - - 
   

92
 5 - - - - 
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